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Exercises

9.1.1 Use a calculator to verify

6. (o) g =t / e, i (e 8

(a) 6263—‘:65, (b) 68/62—"—6,

500 compounded (a) annually, (b) mor

9.1.2 Find the value after 10 years of £
per annum. Comment.

continuously, at an interest rate of 4%
How do your answers change when the time period involved is 2-;— years?

9.1.3 Find the present value of £400 to be paid in 5 years time if it is discouﬂv
annually, (b) monthly, (c) continuously, at a rate of 7% per annum. Comm

9.1.4 Differentiate
(a) e+ 8675 1, (b) @eSine) o/ (L +.67)s 1 () le® i

9.2 Natural logarithms

Tet » he a positive number. The natural logarithm of z is the logarithm to base of 3
e ol



